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d�
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∂�u

∂x�i
= ∇ ·∇u(x)

��
= uxx + uyy = f (x) (x ∈ Ω)

������ ������� �������� �� f = �� ���� ��������� �������� ���������

u(x) = g(x) (x ∈ ∂Ω).
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����� G (x) = C log(|x |) �� ��� ���������� ������� ��������� ��� ��
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u(x) = (G ∗ f )(x) =
�

Rd

G (x − y)f (y)dy
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ut = uxx ((x , t) ∈ [�, �]× [�,T ])

u(x , �) = g(x) (x ∈ [�, �])

u(�, t) = u(�, t) = � (t ∈ [�,T ])

���� g(x) = sin(πx)� ����������������������� �������� ���������



��������� ���� �������� ��������

����� ��������� ��� ���� ��� �� ����� ���� �������� ��� ���������

���������



���������� ���� ���� ��������

utt = c�uxx ((x , t) ∈ R× [�,T ])

u(x , �) = g(x) (x ∈ R)

���� g(x) = sin(πx)�
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qt(x , t) +∇ · �F (q(x , t)) = s(x)
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F :? →?



���� �������� �� � ������������ ���

������� ��� ���� �������� �� ������������ ��� �����



������� ������������ ����
�����

ut = vx

vt = ux .
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